Pierson v. Post:  Reading Comprehension Self-Quiz

(1) According to the “declaration” filed in the case, who owned “the beach” where the fox was found?

(a) Pierson.


(b) Post.


(c) Nobody.


(d) The case does not say.
(2) According to the “declaration” filed in the case, why did Pierson kill the fox?


(a) Because foxes are pests who kill and eat farm animals.


(b) Because he also was hunting on the day in question.


(c) Because he did not want Post to succeed in capturing the animal. 


(d) All of the above.
(3) Which of the following questions was decided by the majority opinion?

(a) Whether Post owned the fox when Pierson killed it.
(b) Whether killing an unowned wild animal creates property rights in the animal.

(c) Whether the verdict in the trial court was correct.
(d) Whether Post had a reasonable prospect of capturing the fox when Pierson killed it.
(4) Which of the following reasons did the majority opinion give to support its decision not to rely on English cases? 
(a) Some of the English cases were decided under legislative acts applicable in England but not in the U.S. 

(b) Some of the English cases involved disputes between a hunter and the owner of the land where the animal was killed (as opposed to a dispute involving an animal killed on unowned land).
(c) Both (a) and (b).
(d) Neither (a) nor (b).
(5) Which of the following beliefs is the source of the majority’s concern about “certainty” (expressed in the last paragraph on page 4)?

(a) It is too hard to tell when an animal has been deprived of its natural liberty.

(b) It is too hard to determine when actual bodily seizure has occurred.

(c) It is too hard to determine the limits prescribed by learned authors.
(d) It is too hard to tell which of two disputing hunters first saw and started to pursue an animal.
(6) According to the Majority opinion, which of the following creates ownership in an unowned wild animal?

(a) Killing the animal.

(b) Having the animal get caught in one of your traps.

(c) Mortally wounding an animal and continuing to pursue it.
(d) All of the above.
(7) Which of the following is true about a hunter who wounds an animal (but not mortally) and pursues it closely?

(a) Under Bracton and Fleta, the hunter does not own the animal. 

(b) Under the logic of the dissenting opinion, the hunter does own the animal.
(c) The majority opinion does not clearly indicate whether the hunter owns the animal.
(d) All of the above.
(8) In the third paragraph of the dissenting opinion, who does the judge call a “saucy intruder”?

(a) A person who behaves as Pierson did.

(b) A person who behaves as Post did.


(c) The fox.

(d) None of the above.
(9) In the fourth paragraph of the dissenting opinion, what does the phrase “defendant in error” mean?

(a) The defendant made a mistake by taking possession of the fox.  

(b) The authorities that support the defendant’s position are incorrect.

(c) The party who was the defendant in the trial below.
(d) The party who, on appeal, is defending against claims that the trial court made mistakes.
(10) Which of the following reasons does the dissenting judge provide for disagreeing with the result reached by the majority?

(a) He disagrees with the majority’s concern about certainty.

(b) The majority’s decision will result in fewer foxes being killed.

(c) The ancient writers clearly support his position.
(d) He disagrees with the majority about how likely Post was to have caught the fox if Pierson had not intervened.
